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a. Adverb Clause — joining the sentences (“f~ FH$))

One unfortunate cardholder who had used his birthday as a PIN had his banks card stolen along with his
driving license in his wallet.

The thieves managed to withdraw nearly MOP20,000 from his account. The thieves entered his date of
birth as a PIN at a cash machine. (when)

1.

His bank says they will not return his money. The reason is he chose the wrong PIN. (because)

2.

A survey also shows that eight out of ten people never change their PIN. All banks suggest changing the PIN

at least once a year. (although)
3.
A group of leading psychologists has made a list of some useful suggestions for choosing and remembering

PINs. It is hard to remember many different numbers. (so)
4,

b. Adverb Clause — translation (P08 H)
1. PRSCAESGZCSARERER TR - HRIMER -

until
2. fEEmIIERIRE - AAEHRZA -
wherever
3. WERIRZAERIHITRIE » B rE R -
If )
4. EEPRMMIRERDERE - EAMFIRYZTAEE
although
5. ffSEelERELR - AV RERMTE T IEEY -
After ,

c. Read Gulliver’s Travel Ch5 and Ch6 to finish the following exercises.

1. Gulliver left Bristol on 1702, in a ship which was sailing to India. He went through

strong wind and waves. Finally, he arrived a large island which was called



https://drive.google.com/file/d/1gTX-pBPt3ZdVbPVxpBcCpUuovVxUvYOW/edit

2. Draw the field that Gulliver went in with the corn, the grass and the hedge.

3. After that, Gulliver was finally discovered by the “giants”. Then he met the farmer’s wife. What was her

reactions at first when she saw Gulliver? What did she do after that?

4. Draw the first dinner scene for Gulliver. You must include the farmer, his wife, their boy and the cat.

5. What did the farmer’s one-year-old son want to do with Gulliver?

6. Gulliver was very tired so he fell asleep. After he woke up, what did he see? What did he do after that?

7. According to Gulliver, who took care of him? What was her name? What was she good at?




8. Draw what Glumdalclitch made for Gulliver.

9. Who did Gulliver laugh at?

10. According the answer of Q9, what did this man suggest to the farmer?

11. How many people saw Gulliver on the first day? Did Gulliver enjoy? Why?

12. What was the farmer’s new plan?
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a. Adverb Clause — choose the correct answers

She spoke although / asif / so sheknew my secret, but she didn't.

Since/ Whether / If hedidn't know what to say, he said nothing.

The guard was sleeping before / while / so thatthe prisoners escaped.

Whatever / However / Whenever she watches that movie, she cries.

Everyone knows he is guilty although / asif / because he claims that heisinnocent,
Before / As / Unless you go tothe beach, call your brother first.

Where / Assoonas / Because the test starts, you will not be able to talk.

Forfearthat / As / While he finished his homework, his parents let him play video games.

W N o U kW N R

| will show you how to prepare this dish asthough / sothat / wherever you can prepare it for
your family.

10. Evenif / Since / So you have no money, I'll pay for you.



Adverb Clause — combine the sentences

1. He will listen to you. You talk to him politely. (if)
___He will listen to you if you talk to him politely.
__If you talk to him politely, he will listen to you
2. They got up early. They would miss the flight. (for fear that)
____They got up early for fear that they would miss the flight.

((HIREA F3F0)3. Karen decided to start a food delivery project in her local school. She realized that many
children in poor neighbourhoods went to school without any breakfast. (because)

Karen decided to start a food delivery project in her local school because she realized that many children in

poor neighbourhoods went to school without any breakfast.

4. Karen requested help from several food supply companies. No companies replied to her. (although)
__Although Karen requested help from several food supply companies, no companies replied to her._
__No companies replied to her although Karen requested help from several food supply companies.

5. Karen’s detailed report was published in a local newspaper. A major food supplier responded promptly.
(after)

_After Karen’s detailed report was published in a local newspaper, a major food supplier responded
promptly. _

_A major food supplier responded promptly after Karen’s detailed report was published in a local
newspaper. _

6. Recycling is not that difficult today. A lot of people continue to place glass and aluminium items in their
normal garbage. (even though)

__Even though recycling is not that difficult today, a lot of people continue to place glass and

aluminium items in their normal garbage.

__Alot of people continue to place glass and aluminium items in their normal garbage Even though
recycling is not that difficult today.

7. All of us make up our mind to try green living. We can really save our planet and improve the
environment. (if)

__If all of us make up our mind to try green living, we can really save our planet and improve the
environment._

___We can really save our planet and improve the environment if all of us make up our mind to try

green living.
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